Club Car DS Sport Windshield
Installation Instructions
Part# 28032

Hardware Kit

1-Windshield & Frame

2- 5/16 x 1 bolts

2- 5/16 x 1 1/2button head bolts
6- 5/16 flat washers

2-5/16 locknuts

A‘ngﬂ wean, approptisle
&0 pfcoléaﬁw/

Installation Instructions:

1. If you have a roof on your cart, remove roof from the cart. When installing the sport windshield you can
re-use your stock roof mount hardware or replace it with the supplied hardware. Carts without tops will
require complete use of supplied hardware Kkit.

2. Using the supplied 5/16 x 1 bolts and washers loosely mount the windshield frame to where the roof
mounted to the body on both sides of the cart as shown in Figure 1.

3. Using the supplied 5/16 x 1 ¥ button head bolts, washers, & locknuts loosely mount the windshield
frame to the cart through the aluminum dash trim, to both sides of the cart as shown in Figure 2.
**NOTE-the stock aluminum dash trim holes may need to be slightly enlarged on some models.**

4. Securely tighten all bolts.

Figure 1

B\

5/16 x 1 1/2 T

Button Head

" 866.405.2537
www.jakesliftkits.com



